Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4519/3/10/74699

Sanction Date: 20/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
109075	ANIL KUMAR SAHU	Male	M. Sc./Geology/I	Fresh	9	100	900	0	4235	4235	5135
150245	Taramati Kosariya	Female	M. Sc./Chemistry/I	Fresh	8	135	1080	0	4070	4070	5150
208420	ASHOK KUMAR PATEL	Male	M. Sc./Botany/I	Fresh	8	100	800	0	4235	4235	5035
219923	KUMUDINI YADAW	Female	PGDCA/Computer Application/I	Fresh	8	110	880	6000	6205	12205	13085
241824	UMESH KUMAR SAHU	Male	M. Sc./Zoology/I	Fresh	9	100	900	0	4235	4235	5135
312214	RAKESH KUMAR NISHAD	Male	M. Sc./Geology/I	Fresh	8	100	800	0	4235	4235	5035
415476	CHANDRAPRABHA LENJWAR	Female	M. Sc./Physics/I	Fresh	8	110	880	0	4070	4070	4950
516563	TRIPTI DEWANGAN	Female	M. Sc./Mathematics/I	Fresh	8	110	880	0	4070	4070	4950
517076	MUKESH KUMAR NAYAK	Male	PGDCA/Computer Application/I	Fresh	9	100	900	6000	4790	10790	11690
534648	JAYA VERMA	Female	M. Sc./Zoology/I	Fresh	8	110	880	0	4070	4070	4950
547002	Indra Lal	Male	M. Sc./Geology/I	Fresh	8	100	800	0	4335	4335	5135
549095	OMPRAKASH SAHU	Male	M. Sc./Botany/I	Fresh	9	100	900	0	4235	4235	5135
578394	Yugalkishor Verma	Male	M. Sc./Mathematics/I	Fresh	9	100	900	0	4635	4635	5535
578842	POORNIMA PATEL	Female	M. Sc./Bio-Technology/I	Fresh	8	110	880	20000	5570	25570	26450
579922	RAVI DEWANGAN	Male	M. Sc./Chemistry/I	Fresh	8	100	800	0	4235	4235	5035
622141	GARIMA VERMA	Female	M. Sc./Bio-Technology/I	Fresh	8	110	880	20000	5570	25570	26450

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
622884	NEMI CHAND	Male	M. Sc./Chemistry/I	Fresh	6	100	600	0	4235	4235	4835
623548	DINESH KUMAR SAO	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
645925	LOKESH CHANDRAKAR	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
649395	Anjali Dewangan	Female	M. Sc./Mathematics/I	Fresh	9	110	990	0	4070	4070	5060
650381	GEETA SAHU	Female	M. Sc./Chemistry/I	Fresh	8	110	880	0	4070	4070	4950
650423	PURUSHOTTAM SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
655611	BHOJ KUMAR	Male	M. Sc./Mathematics/I	Fresh	8	100	800	0	4225	4225	5025
670903	KHEMLATA SAHU	Female	M. Sc./Mathematics/I	Fresh	8	110	880	0	4070	4070	4950
682477	VINITA DEWANGAN	Female	PGDCA/Computer Application/I	Fresh	9	110	990	6000	6205	12205	13195
682946	RAJARAM PATEL	Male	M. Sc./Botany/I	Fresh	8	100	800	0	4235	4235	5035
709186	NEMCHAND SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
761764	YOGESH KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
835425	LUKESHWAR SAHU	Male	D. C. A./Diploma in Computer application/I	Fresh	9	100	900	5000	6285	11285	12185
836376	PRADEEP KUMAR	Male	M. Sc./Chemistry/I	Fresh	8	100	800	0	4235	4235	5035
840046	RAJU YADAV	Male	M. Sc./Geology/I	Fresh	9	100	900	0	4235	4235	5135
843833	LOKESH NAYAK	Male	M. Sc./Geology/I	Fresh	9	100	900	0	4225	4225	5125

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4519/3/10/74699

Sanction Date: 20/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
857154	GULSHAN SAHU	Male	M. Sc./Botany/I	Fresh	8	100	800	0	4235	4235	5035
864479	PRIYA BARIK	Female	M. Sc./Physics/I	Fresh	8	110	880	0	3770	3770	4650
880866	ADITYA NARAYAN	Male	M. Sc./Geology/I	Fresh	8	100	800	0	4635	4635	5435
1224250	VRIJRAJ DHIWAR	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1224621	JITENDRA SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1224191	TEJRAM PATEL	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1226417	KUNJBIHARI SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1224706	Maruti Sharan Verma	Male	B. Sc./Bio Technology/I	Fresh	9	100	900	5000	4565	9565	10465
1228459	KHUSHBOO SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
980038	DOMENDRA KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	9	100	900	5000	6285	11285	12185
1229040	SUNIL CHOUDHARY	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1229029	VINOD KUMAR CHOUDHARY	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1229453	AAKASH YADAV	Male	B. Sc./Information Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1230350	JEETU KUMAR VERMA	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4430	9430	9870
894850	TUSHAR NAIK	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 20/02/2017

Sanction Number: N/6/4519/3/10/74699

Applications Type: Fresh Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Month **Allowance** 1230973 NAVIN PRADHAN Male B. Sc./Science/I Fresh 9 55 495 0 2965 2965 3460 8 55 1230920 PUSHPANJALI PRADHAN Female B. Sc./Information Fresh 440 5000 3410 8410 8850 Technology/I 8 1231030 BIRENDRA PRADHAN Male B. Sc./Science/I 55 440 0 2965 2965 3405 Fresh 5 1223810 HARSHA SAHU Female B. Sc./Science/I Fresh 70 350 0 2810 2810 3160 Fresh 9 1231415 SHEETAL SAHU Female B. Sc./Science/I 70 630 0 2810 2810 3440 8 0 1231479 MAHESH KUMAR VERMA 55 440 2965 2965 3405 Male B. Sc./Science/I Fresh 9 100 Male B. Sc./Computer Science/I 900 5000 4565 9565 10465 1224675 VINAY KUMAR YADU Fresh 9 1231623 VISHVNATH SAHU Male B. Sc./Information Fresh 55 495 5000 4565 9565 10060 Technology/I 8 55 1231837 DHANENDRA KUMAR SINHA Male B. Sc./Science/I Fresh 440 0 2965 2965 3405 9 55 495 0 2965 2965 3460 1232038 Neelkamal Male B. Sc./Science/I Fresh 8 55 1233013 GIRISH KUMAR Male B. Sc./Science/I Fresh 440 2965 2965 3405 8 1034365 LAXMI SINHA Female PGDCA/Computer Fresh 110 880 6000 6205 12205 13085 Application/I 1234137 DEEPAK KUMAR 8 Male B. Sc./Science/I Fresh 55 440 0 2965 2965 3405 1234052 BHAWANICHARAN SAMAL Male B. Sc./Science/I Fresh 9 55 495 0 2965 2965 3460 1234274 SWATI SAHU Female B. Sc./Science/I Fresh 8 70 560 0 2810 2810 3370 1234100 JAYPRAKASH SAO Male B. Sc./Bio Technology/I Fresh 8 55 440 5000 4565 9565 10005

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

State: Government of Chhattisgarh

Sanction Number: N/6/4519/3/10/74699

Sanction Date: 20/02/2017

	Academic Year: 2016 - 17							Application	s Type: Fres	sh	
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1234411	JITENDRA SAHU	Male	B. Sc./Science/I	Fresh	7	55	385	0	2965	2965	3350
1232104	Ravi Kumar Verma	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1235096	SANDEEP KUMAR SAHU	Male	B. Sc./Information Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1235077	LEKHNARAYAN SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1235727	AKANKSHA SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1230954	YATISH SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1235994	SAMEER KUMAR SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1236047	GEETA CHANDRAKAR	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1230738	SHAURABH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1236183	MITHLESH DEWANGAN	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1236366	JAGRITI SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1012648	CHAKRADHAR RANA	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1236546	PIYUSH KUMAR SINHA	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1231407	POOJA CHANDRAVANSHI	Female	B. Sc./Information Technology/I	Fresh	8	70	560	5000	4410	9410	9970
1235474	KARAN KUMAR SINGOUR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1228702	RICHA SAHU	Female	B. Sc./Science/I	Fresh	7	110	770	0	2810	2810	3580

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1236098	bindeswar sahu	Male	B. Sc./Microbiology/I	Fresh	8	55	440	3000	3565	6565	7005
1236116	Shivanand Chandrakar	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
980415	AJAY VERMA	Male	B. Sc./Information Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1236364	rajendra kumar sahu	Male	B. Sc./Science/I	Fresh	8	55	440	0	2805	2805	3245
1035655	DIKENDRA KUMAR	Male	B. Sc./Information Technology/I	Fresh	9	55	495	5000	4565	9565	10060
976749	SAVEE PATEL	Female	D. C. A./Diploma in Computer application/I	Fresh	8	70	560	5000	6130	11130	11690
1202498	MEGHA CHANDRAKAR	Female	M. Sc./Botany/I	Fresh	8	110	880	0	4070	4070	4950
1222498	Dushyant Kumar	Male	B. Sc./Bio Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1223975	Mukesh Patel	Male	PGDCA/Computer Application/I	Fresh	8	100	800	6000	6360	12360	13160
1140333	DUBE LAL PATEL	Male	M. Sc./Botany/I	Fresh	9	125	1125	0	4235	4235	5360
1235897	Balmukund sahu	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1166149	Drav kumar verma	Male	D. C. A./Diploma in Computer application/I	Fresh	9	55	495	5000	6285	11285	11780
1122365	TORAN LAL DHIWAR	Male	M. Sc./Botany/I	Fresh	8	125	1000	0	4235	4235	5235
1229107	ROSHAN JAISWAL	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1029853	NISHA YADAV	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
911347	TARUN DEWANGAN	Male	B. C. A./Computer Application/I	Fresh	8	55	440	10000	4935	14935	15375
1102589	DIKSHA SINHA	Female	B. Sc./Science/I	Fresh	9	110	990	0	2810	2810	3800
946619	YOGESH KUMAR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1236025	YAMINI SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1224182	JHARNA PRADHAN	Female	B. Sc./Science/I	Fresh	8	55	440	0	2650	2650	3090
1116568	GEETIKA YADAV	Female	M. Sc./Physics/I	Fresh	8	110	880	0	4070	4070	4950
1228328	RAKESH KUMAR PATEL	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1164271	KAMDEV NISHAD	Male	M. Sc./Physics/I	Fresh	9	125	1125	0	4235	4235	5360
979836	DEVENDRA KUMAR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1011438	Dhaneshwar Sahu	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1044731	UMESH OO	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
881603	DINESH VERMA	Male	M. Sc./Mathematics/I	Fresh	9	100	900	0	4235	4235	5135
1236549	MANISH SAO	Male	B. C. A./Computer Application/I	Fresh	9	55	495	10000	4935	14935	15430
1236719	NEMICHAND SAHU	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1236795	vikas sahu	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1236823	KULDEEP DEWANGAN	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1236961	Karuna Sahu	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1237960	KOMAL SAHU	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1238204	SARVAN SINGOR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1238627	BHUPESH KUMAR LODHI	Male	D. C. A./Diploma in Computer application/I	Fresh	8	55	440	5000	6285	11285	11725
1238749	PAYAL SAHU	Female	B. Sc./Bio Technology/I	Fresh	9	70	630	5000	4565	9565	10195
1240768	HIMANI SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1241616	yamuna sahu	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1242178	SAGAR YADAV	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1241859	LOKESH PATEL	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1237698	TAMESH CHANDRAVANSHI	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1242205	CHITREKHA SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1242691	CHITRAREKHA DEWANGAN	Female	M. Sc./Chemistry/I	Fresh	9	135	1215	0	4070	4070	5285
1238648	RAHUL VERMA	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1243167	VAISHNAVI DEVI SONI	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1248700	ANIL KUMAR CHOUDHARI	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1248642	DEVDHAR KUMAR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1244574	mahendra verma	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1249255	VIKRAM YADU	Male	M. Sc./Mathematics/I	Fresh	8	100	800	0	4235	4235	5035
1249280	TRILOCHAN PRADHAN	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1249119	Kiishan Kumar Sao	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1249817	GULSHAN KUMAR SAHU	Male	B. Sc./Computer Science/I	Fresh	9	55	495	5000	4565	9565	10060
1244450	devyani dewangan	Female	B. Sc./Information Technology/I	Fresh	8	70	560	5000	4410	9410	9970
1249903	DEEPA DEWANGAN	Female	B. Sc./Information Technology/I	Fresh	8	70	560	5000	4410	9410	9970
1242212	UDAY NARAYAN PATEL	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1250981	HEMLATA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1243604	BHOLESHVAR DEWANGAN	Male	B. Sc./Science/I	Fresh	8	100	800	0	2965	2965	3765
1253472	LOKESH PATEL	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1254050	SHUBHAM VERMA	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1254593	TOSHAN YADU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1255280	URVASHI LODHI	Female	B. Sc./Bio Technology/I	Fresh	9	70	630	5000	4410	9410	10040
1254929	VINITA SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1256017	VIJAY KUMAR VERMA	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1256071	MEGHA NISHAD	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1256347	PARAKH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1256241	RUPALI SONKAR	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1256399	SURENDRA KUMAR NISHAD	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1256558	DEV PRAKASH SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1256633	HARISH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1256611	NIKESH DEWANGAN	Male	M. Sc./Chemistry/I	Fresh	8	125	1000	0	4235	4235	5235
1256594	BHISHMAK PATEL	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1256411	NAYANTARA VERMA	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1256692	DEV NARAYAN SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1256763	PRADEEP KUMAR SAHU	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1256938	ATMARAM SONKAR	Male	M. Sc./Physics/I	Fresh	8	100	800	0	4235	4235	5035
1257023	VIKKY DAS MANIKPURI	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1257044	NITISH VERMA	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	3565	8565	9005
1247026	Vinita Sahu	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1257033	THAMESH NISHAD	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4519/3/10/74699

Sanction Date: 20/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1255066	SUJAL VERMA	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1256937	AKSHAT GUPTA	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1257134	KAVITA SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1256976	VENU GOPAL SAHU	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1259437	CHANCHAL SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1259965	DAMESHWAR RAM SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1260490	NIKHIL KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1261304	SONIYA VERMA	Female	B. Sc./Microbiology/I	Fresh	9	70	630	3000	3410	6410	7040
1261311	RAKESH DAS GOSWAMI	Male	PGDCA/Computer Application/I	Fresh	8	100	800	6000	6360	12360	13160
1260838	KRITIKA CHOPKAR KRITIKA CHOPKAR	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1262794	TEJASWI CHAKRAPANI	Male	PGDCA/Computer Application/I	Fresh	8	105	840	6000	6360	12360	13200
1263925	MUKESH KUMAR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1243857	Kavita Chandrakar	Female	M. Sc./Mathematics/I	Fresh	8	110	880	0	4070	4070	4950
1264291	TUKESHWARI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	9	100	900	5000	6130	11130	12030
1265002	GAUTAM PATEL	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Sanction Number: N/6/4519/3/10/74699

Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1264213	BHUNESHWARI SAHU	Female	D. C. A./Diploma in Computer application/I	Fresh	8	70	560	5000	6130	11130	11690
1265513	HEMRAJ YADAV	Male	B. Sc./Bio Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1265498	VRINDAVAN BANJARA	Male	M. Sc./Botany/I	Fresh	9	100	900	0	4625	4625	5525
1238767	DHANANJAY SAHU	Male	B. Sc./Computer Science/I	Fresh	9	55	495	5000	4565	9565	10060
1266364	MUKESH KUMAR SINHA	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1267756	VIMALESH NAYAK	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1252345	KANIKA VERMA	Female	B. Sc./Microbiology/I	Fresh	8	70	560	3000	3410	6410	6970
1267774	SAGAR DHRUWANSHI	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1267672	MONISH KUMAR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1262151	MONIKA NAYAK	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1268879	SURAJ SAO	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1269935	DAGESHWAR VERMA	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1270353	AKASH KUMAR YADU	Male	B. Sc./Information Technology/I	Fresh	8	100	800	5000	4565	9565	10365
1270450	RAJESH KUMAR	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1271094	KRISHNA SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1271132	DIKESHWARI VERMA	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1271703	yogita sen	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1272050	CHANDRAMANI SAMAL	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1271695	PRIYA GIREPUNJE	Female	B. Sc./Microbiology/I	Fresh	8	70	560	3000	2810	5810	6370
1272070	ANKIT PRADHAN	Male	B. Sc./Bio Technology/I	Fresh	9	55	495	5000	4430	9430	9925
1272249	PRAMILA SINHA	Female	B. Sc./Microbiology/I	Fresh	8	70	560	3000	3410	6410	6970
1272163	ANJALI SAHU	Female	B. C. A./Computer Application/I	Fresh	9	70	630	10000	4780	14780	15410
1272427	CHANCHAL CHANDRAKAR	Female	B. Sc./Computer Science/I	Fresh	8	70	560	5000	4410	9410	9970
1272410	RAJESH SAHU	Male	B. Sc./Computer Science/I	Fresh	9	55	495	5000	4565	9565	10060
1272712	PRAMOD KUMAR	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1273488	VIDYA VERMA	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1272732	MUKESH SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1268122	DAYASHANKAR CHANDRAKAR	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1274078	KUMARI SUMAN VERMA	Female	B. C. A./Computer Application/I	Fresh	8	70	560	10000	4780	14780	15340
1242839	Varsha Yadav	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1257451	RAHUL SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1274564	suman Sahu	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1274875	ADITYA YADAV	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1275773	SUSHMITA PRADHAN	Female	B. Sc./Microbiology/I	Fresh	8	70	560	3000	3410	6410	6970
1278842	KISHOR KUMAR JAISWAL	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1279512	AARATI YADAV	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1281260	VICKY Sahu	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1281512	SUDHA RANI SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1280421	KHILESH KUMAR CHANDRAVANSHI	Male	B. C. A./Computer Application/I	Fresh	8	55	440	10000	4935	14935	15375
1298100	JAYCHAND SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1298147	RAVI KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1298494	MANJULATA SAHU	Female	M. Sc./Zoology/I	Fresh	8	135	1080	0	4070	4070	5150
1300396	Nand Kishor Sahu	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1301289	DALESHWAR SAHU	Male	B. Sc./Bio Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1306108	MUSKAN PATLE	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1312382	TORAN SAHU	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	2965	7965	8405
1274282	GOPAL PATEL	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1274039	ANUJ RAI	Male	B. Sc./Bio Technology/I	Fresh	8	55	440	5000	4465	9465	9905

Declaration:

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4519/3/10/74699

Sanction Date: 20/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1258672	VIKRAM CHANDRAVANSHI	Male	M. Sc./Mathematics/I	Fresh	8	100	800	0	4235	4235	5035
1237906	CHITRASEN CHAKRADHARI	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1250409	TUKESH KUMAR	Male	B. Sc./Bio Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1250211	UMASHANKAR VERMA	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	2965	7965	8405
1249719	PRAGATI SAHU	Female	B. Sc./Bio Technology/I	Fresh	8	70	560	5000	4410	9410	9970
1249091	RAJENDRA SAHU	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1247117	GOVERDHAN SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1242963	CHAITANYA CHOUDHARY	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
1239252	SHARDA VERMA	Female	B. Sc./Computer Science/I	Fresh	8	70	560	5000	4410	9410	9970
1231318	damini Sahu	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1048429	DEVESH BHOI	Male	B. Sc./Computer Science/I	Fresh	9	55	495	5000	4565	9565	10060
943084	Kuldip Kumar	Male	B. Sc./Bio Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1227716	DEWASHISH VERMA	Male	B. Sc./Computer Science/I	Fresh	9	55	495	5000	4565	9565	10060
1177083	DINESH KUMAR	Male	M. Sc./Geology/I	Fresh	8	100	800	0	4235	4235	5035
905154	UMESH KUMAR SONKAR	Male	M. Sc./Geology/I	Fresh	8	100	800	0	4235	4235	5035
915944	umeshwari yadav	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
975026	HEMLATA BANCHHOR	Female	M. Sc./Mathematics/I	Fresh	8	110	880	0	4070	4070	4950

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1232874	NEETA PATEL	Female	B. Sc./Bio Technology/I	Fresh	8	70	560	5000	4410	9410	9970
1232347	SANJAY KUMAR	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1169254	Sourabh Sahu	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1230590	RAVINDRA KUMAR SAHU	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1229205	Sarvesh Kumar Sahu	Male	B. Sc./Microbiology/I	Fresh	8	55	440	3000	3565	6565	7005
1228178	CHANDAN KUMAR SAHU	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1227637	SULKSHA SONI	Female	B. Sc./Information Technology/I	Fresh	8	70	560	5000	4410	9410	9970
876232	MEGHA GOSWAMI	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
869070	suraj kumbhkar	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
862894	PRAJESHVARI SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
829533	PALLAVI KUMARI	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
828454	Hitendra verma	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
817640	VAISHALI CHNADRAKAR	Female	B. Sc./Science/I	Fresh	8	70	560	0	2830	2830	3390
681798	VIKAS SAHU	Male	M. Sc./Mathematics/I	Fresh	9	100	900	0	4235	4235	5135
662656	LOKESH NAYAK	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
657786	VISHWNATH SAHU	Male	M. Sc./Chemistry/I	Fresh	9	100	900	0	4235	4235	5135
625522	KANCHAN sahu	Female	PGDCA/Computer Application/I	Fresh	8	110	880	6000	6205	12205	13085
611903	JAYANT NAYAK	Male	M. Sc./Geology/I	Fresh	9	100	900	0	4235	4235	5135
549443	RENUKA PATEL	Female	M. Sc./Mathematics/I	Fresh	8	110	880	0	4470	4470	5350
1310493	BHASKAR Patel	Male	B. Sc./Information Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1290889	CHITRA CHANDRA	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1283776	NIKEE PAL	Female	B. Sc./Bio Technology/I	Fresh	9	70	630	5000	4410	9410	10040
1280466	TRIBHUVAN KUMAR SINHA	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1280479	NILAMBAR PATEL	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1273538	SANTOSHI PATEL	Female	B. Sc./Bio Technology/I	Fresh	9	70	630	5000	4410	9410	10040
1279325	KARUNA PRADHAN	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1275922	HEENA SONKAR	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1275216	Falesh Kumar	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1273176	RAKESH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	8	100	800	0	2965	2965	3765
1273126	NUTENDRA VERMA	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1272992	RAHUL YADAV	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005

Declaration:

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1259745	TIKESH KUMAR SAHU	Male	B. Sc./Bio Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1272642	DUSHYANT SINHA	Male	B. Sc./Bio Technology/I	Fresh	8	55	440	5000	4565	9565	10005
1272668	rajendra kumar	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1272670	DIMPLE VERMA	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1268649	BARKHA SAHU	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1259697	VANDANA MADHARIYA	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
1243956	OMPRAKASH DEWANGAN	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1246961	Jay Prakash Sahu	Male	B. Sc./Information Technology/I	Fresh	9	55	495	5000	4565	9565	10060
1243580	CHHOTU KUMAR NISHAD	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1243586	ANKIT KUMAR VERMA	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1026217	JAYA SAHU	Female	PGDCA/Computer Application/I	Fresh	8	110	880	6000	6205	12205	13085
1227557	JAY KISHAN	Male	PGDCA/Computer Application/I	Fresh	9	125	1125	6000	6360	12360	13485
978188	KUSUM SAHU	Female	B. Sc./Bio Technology/I	Fresh	8	70	560	5000	4410	9410	9970
1233718	LUMESH KUMAR SAHU	Male	B. Sc./Computer Science/I	Fresh	8	55	440	5000	4565	9565	10005
1062297	AARYAN KAIWARTYA	Male	B. Sc./Science/I	Fresh	9	100	900	0	2965	2965	3865
1023126	ANJU VERMA	Female	B. Sc./Science/I	Fresh	8	70	560	0	2965	2965	3525

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : (Signature & Seal of

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4519/3/10/74699

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1236214	RITU SAHU	Female	B. Sc./Science/I	Fresh	9	70	630	0	2810	2810	3440
1222257	DURGESH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	55	495	0	2965	2965	3460
	DEVENDRA KUMAR DEWANGAN	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1259790	Omprakash Sahu	Male	B. Sc./Science/I	Fresh	9	55	495	0	2790	2790	3285
1286186	TOSHAN KUMAR SAHU	Male	B. Sc./Science/I	Fresh	8	55	440	0	2965	2965	3405
1275518	ANJANA DHIWAR	Female	B. Sc./Science/I	Fresh	8	70	560	0	2810	2810	3370
	То							531000	1079005	1610005	1784730

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/6/4519/1/9/74927

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
180668	ARVIND KUMAR KOSALE	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190
180731	NARAYAN PRASAD KOSALE	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190
209148	LANJU BANJARE	Female	M. Sc./Zoology/II	Renewal	8	530	4240	0	3980	3980	8220
284915	Kausima Banjare	Female	M. Sc./Zoology/III	Renewal	9	820	7380	0	3980	3980	11360
305853	PUKHRAJ SATNAMI	Female	M. Sc./Physics/II	Renewal	8	820	6560	0	3980	3980	10540
309647	GULSHAN NETAM	Male	M. Sc./Chemistry/II	Renewal	5	530	2650	0	4030	4030	6680
311671	TANUJ KETAN	Male	M. Sc./Geology/II	Renewal	8	530	4240	0	3980	3980	8220
517352	Bhanu Pratap Koshale	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2765	2765	7325
518522	chandrakanta rai	Female	M. Sc./Mathematics/II	Renewal	8	820	6560	0	3980	3980	10540
563465	RAHUL SAT	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
566474	DAKESHWAR SATNAMI	Male	B. Sc./Bio Technology/II	Renewal	8	570	4560	5000	2630	7630	12190
584232	MANISH KUMAR CHOUHAN	Male	M. Sc./Botany/II	Renewal	8	530	4240	0	3980	3980	8220
595940	NIRMALA KUMARI AJAGALLE	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170
595975	AMIT BANJARE	Male	B. Sc./Science/III	Renewal	8	300	2400	0	2765	2765	5165
611178	RAHUL MESHRAM	Male	M. Sc./Mathematics/II	Renewal	8	530	4240	0	3980	3980	8220
615775	RAVINDRA PAL	Male	B. Sc./Science/III	Renewal	8	300	2400	0	2765	2765	5165
632872	MAHENDRA KOSHRE	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2610	2610	5010

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC Sanction Number: R/6/4519/1/9/74927

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
687300	VIRENDRA KUMAR BANJARE	Male	B. Sc./Information Technology/II	Renewal	9	570	5130	5000	3150	8150	13280
723675	REENA JAMUNKAR JAMUNKAR	Female	M. Sc./Chemistry/II	Renewal	8	820	6560	0	3980	3980	10540
818961	UTTAM KUMAR MAHILANGE	Male	B. Sc./Computer Science/III	Renewal	9	570	5130	5000	3270	8270	13400
824616	HARISHANKAR BAGHEL	Male	B. Sc./Science/III	Renewal	9	570	5130	0	2630	2630	7760
830162	RAJESH TODE	Male	B. Sc./Science/III	Renewal	9	300	2700	0	2630	2630	5330
830252	PARUL TANDIYA	Female	B. Sc./Information Technology/II	Renewal	9	300	2700	5000	3150	8150	10850
836245	chetan kumar motghare	Male	M. Sc./Physics/II	Renewal	8	530	4240	0	3980	3980	8220
837551	AMAN TANDI	Male	B. Sc./Science/III	Renewal	8	300	2400	0	2630	2630	5030
838272	SUSHMA KURRE	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2610	2610	5010
839354	MUKESH KUMAR	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190
841178	chhanna jangdre	Female	B. Sc./Science/III	Renewal	8	570	4560	0	2610	2610	7170
849980	Manish Nand	Male	B. Sc./Science/III	Renewal	8	300	2400	0	2630	2630	5030
851511	DEVID KUMAR KURRE	Male	B. Sc./Bio Technology/III	Renewal	8	300	2400	5000	3170	8170	10570
853248	SATRUPA KUMARI KURREY	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2650	2650	5050
896091	AJAY KUMAR CHATURVEDI	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3170	8170	10570
898841	GIRINA BANJARE	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2610	2610	5010

Declaration:

Place : (Signature & Seal of Head of the Institution)

Name (Capital Leters) :

Category: SC

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

State: Government of Chhattisgarh

Sanction Number: R/6/4519/1/9/74927

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
909078	AMRITA SAILIK	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
924075	PRAKASH JANGDE	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
928440	PRAVIN KUMAR SATNAMI	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
1116377	VINOD KUMAR DAHARIYA	Male	M. Sc./Mathematics/II	Renewal	8	530	4240	0	3980	3980	8220
1121280	BHARTI KUMAR BAGHEL	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	2630	7630	10030
1172411	JITENDRA KUMAR SONWANI	Male	B. Sc./Bio Technology/II	Renewal	8	570	4560	5000	3170	8170	12730
1163377	RAVINDRA KUMAR PATLE	Male	B. Sc./Information Technology/II	Renewal	8	570	4560	5000	3170	8170	12730
1157001	DAVID PATLE	Male	B. Sc./Science/III	Renewal	9	300	2700	0	2630	2630	5330
1225464	SUMAN TONDAY	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170
1226453	AKASH PAIK	Male	B. Sc./Science/II	Renewal	9	300	2700	0	2630	2630	5330
1214811	VISHWASRAI JATWAR	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1227412	VISHVA JIT	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1228485	TWINKLE TANDON	Female	B. Sc./Bio Technology/III	Renewal	8	570	4560	5000	3150	8150	12710
1183783	SANGEETA BANJARE	Female	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3150	8150	10550
1130507	KHUSHBU BANJARE	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2610	2610	5010
1175088	DUBE RAM	Male	B. Sc./Bio Technology/II	Renewal	8	570	4560	5000	3170	8170	12730
1143986	JAGRITI MANDLE	Female	B. Sc./Science/III	Renewal	8	570	4560	0	2610	2610	7170

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/6/4519/1/9/74927

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1189114	LUKESH KUMAR MANHARE	Male	B. Sc./Bio Technology/II	Renewal	9	300	2700	5000	3170	8170	10870
1133891	Devid Dutt Bartamsi	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
1160988	Bhupendra Kumar Sonwani	Male	B. Sc./Microbiology/II	Renewal	8	570	4560	3000	3170	6170	10730
1158366	Madhuri Sonwani	Female	B. Sc./Bio Technology/II	Renewal	8	300	2400	5000	3250	8250	10650
1240412	BABITA TANDI	Female	B. Sc./Information Technology/II	Renewal	8	300	2400	5000	3150	8150	10550
1160471	Sonu Bandhe	Male	B. Sc./Computer Science/II	Renewal	6	300	1800	5000	3170	8170	9970
1242277	SUSHMA MUNNA	Female	M. Sc./Chemistry/II	Renewal	8	530	4240	0	3980	3980	8220
1156678	SANTOSH KUMAR BANJARE	Male	M. Sc./Bio-Technology/III	Renewal	8	820	6560	20000	4430	24430	30990
1144562	MOTILAL KURRE	Male	M. Sc./Zoology/II	Renewal	8	820	6560	0	3980	3980	10540
1156868	ANAND KUMAR TANDAN	Male	B. Sc./Information Technology/II	Renewal	8	570	4560	5000	3170	8170	12730
1196108	MUKESH KUMAR RATRE	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1178668	SUMAN BHARTI	Female	B. Sc./Science/II	Renewal	8	300	2400	5	2610	2615	5015
1182471	DILESHWAR PRASAD CHAUHAN	Male	B. Sc./Bio Technology/II	Renewal	8	300	2400	5000	3170	8170	10570
1158205	Ajay Kumar Kurrey	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
1170134	DALESHWAR PRASAD MADHUKAR	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
1142428	manju goyal	Female	B. Sc./Microbiology/II	Renewal	9	570	5130	3000	3150	6150	11280

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Institute Name: Govt. Scienc College Raipur

Government of Chhattisgarh



Sanction Date: 20/02/2017

Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/6/4519/1/9/74927

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 1189712 HIMANSHU KESHRI Male B. Sc./Science/II Renewal 8 300 2400 0 2630 2630 5030 8 1250445 Mukesh kumar Baghel Male B. Sc./Science/II Renewal 300 2400 2630 2630 5030 1257359 MANSING GAYAKWAD Male B. Sc./Microbiology/III Renewal 8 300 2400 3000 3170 6170 8570 1258983 MULCHAND KURRE Male B. Sc./Science/II Renewal 8 300 2400 2630 2630 5030 1149330 SHUBHAM KUMAR TANDAN Male B. Sc./Science/III Renewal 8 300 2400 0 2630 2630 5030 8 300 2400 0 2630 2630 5030 1156673 NARAYAN TANDI Male B. Sc./Science/II Renewal 1212624 DIVYA LAHARE Female B. Sc./Science/II 8 300 2400 0 2610 2610 5010 Renewal 8 300 2400 3000 3150 6150 8550 1156642 MAMTA JANGDE Female B. Sc./Microbiology/II Renewal 1216350 BRIJMOHAN NAVRANGE Male B. Sc./Microbiology/II Renewal 8 300 2400 3000 3270 6270 8670 1191823 JANENDRA KUMAR KHUTE Male B. Sc./Science/II Renewal 8 570 4560 0 2630 2630 7190 1193005 NEKRAJ BANJARE 8 0 2670 Male B. Sc./Science/II Renewal 300 2400 2670 5070 1151606 Rajendra kumar kumar Male B. Sc./Science/II Renewal 8 570 4560 0 2630 2630 7190 1160656 Naresh Kumar Male B. Sc./Science/III Renewal 8 570 4560 0 2670 2670 7230 1173815 CHANDNI BANJARE B. Sc./Science/III 8 300 2400 0 2610 2610 5010 Female Renewal 8 1127685 SHIV KUMAR Male B. Sc./Bio Technology/II Renewal 300 2400 5000 3305 8305 10705 8 839041 RAKESH KUMAR BAGHEL Male B. Sc./Bio Technology/III Renewal 300 2400 5000 3170 8170 10570 9 827846 YOGESH KOSHLE Male B. Sc./Science/III Renewal 300 2700 0 2630 2630 5330 8 554188 REENA GHITODE B. Sc./Science/II 300 2400 0 2610 2610 5010 Female Renewal

Declaration:

Place : Date :

Government of Chhattisgarh



Sanction Date: 20/02/2017

Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/6/4519/1/9/74927

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
190822	Tarun Kumar Rangare	Male	M. Sc./Mathematics/II	Renewal	8	530	4240	0	3980	3980	8220
1190049	BHAWNA SONWANI	Female	B. Sc./Science/II	Renewal	9	300	2700	0	2610	2610	5310
1173073	KAJAL BHATPAHARI	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2650	2650	5050
1191310	khushboo gilhare	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2610	2610	5010
1222958	SONAM KUMAR MAHESHWARI	Male	B. Sc./Science/III	Renewal	9	300	2700	0	2630	2630	5330
1171922	YASMIN BERMAL	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2610	2610	5010
686541	MITHLESH JANGDE	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2670	2670	5070
215206	PREETY NAYAK	Female	M. Sc./Botany/II	Renewal	9	530	4770	0	3980	3980	8750
1155957	POOJA RODGE	Female	M. Sc./Botany/II	Renewal	8	530	4240	0	3980	3980	8220
1271417	ANIL KUMAR BANJARE	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1151714	anjali jhadi	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170
1152102	RENISH KUMAR	Male	B. Sc./Microbiology/II	Renewal	8	300	2400	3000	3270	6270	8670
1175137	SHUBHAM NAG	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3170	8170	10570
1124964	MANISHA DAHARIYA	Female	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3150	8150	10550
833728	VIJAY NAVARATNA	Male	B. Sc./Microbiology/II	Renewal	8	300	2400	3000	3170	6170	8570
						Total :	344960	151005	299000	450005	794965

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4519/1/9/74983

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
194778	SHOUKI LAL CHOUHAN	Male	M. Sc./Zoology/I	Fresh	9	530	4770	0	4070	4070	8840
266735	NAGESH KUMAR	Male	M. Sc./Geology/I	Fresh	9	820	7380	0	4010	4010	11390
279525	TRIDEV BAGHEL	Male	D. C. A./Diploma in Computer application/I	Fresh	9	380	3420	4000	6050	10050	13470
424512	Arhint Karsayal	Male	B. C. A./Computer Application/I	Fresh	8	570	4560	7000	4700	11700	16260
512553	DIPTI MANHAR	Female	PGDCA/Computer Application/I	Fresh	8	820	6560	4000	6105	10105	16665
569592	Raksha Kumari	Female	M. Sc./Botany/I	Fresh	8	820	6560	0	4010	4010	10570
589740	DAKESHWARI DAHARIYA	Female	M. Sc./Botany/I	Fresh	9	530	4770	0	4010	4010	8780
590322	UTTAM CHAND	Male	M. Sc./Botany/I	Fresh	8	530	4240	0	4410	4410	8650
596184	TAMESHWAR KURREY	Male	M. Sc./Geology/I	Fresh	8	530	4240	0	4010	4010	8250
607478	Chandrakant Mandle	Male	M. Sc./Geology/I	Fresh	8	530	4240	0	4010	4010	8250
682020	DUSHYANT KUMAR CHOURE	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
772235	NAGESHWAR HILWANI	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
846450	ramlal lahre	Male	M. Sc./Bio-Technology/I	Fresh	9	820	7380	20000	5470	25470	32850
899553	LAXMI BANDE	Female	PGDCA/Computer Application/I	Fresh	8	530	4240	4000	6105	10105	14345
958056	YUVRAJ SINGH	Male	B. Sc./Information Technology/I	Fresh	9	300	2700	5000	4330	9330	12030

Declaration:

Place:

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4519/1/9/74983

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
967477	THAKUR RAM LAHARE	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
984026	Pintu Kumar	Male	B. Sc./Bio Technology/I	Fresh	9	300	2700	5000	4330	9330	12030
1051079	SONIYA KUMARI	Female	B. Sc./Science/I	Fresh	8	570	4560	0	2770	2770	7330
1064957	HARISH KUMAR RATRE	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490
1223719	Narayan Lahari	Male	B. Sc./Computer Science/I	Fresh	8	300	2400	5000	4330	9330	11730
1223753	VIJAY TANDON	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2830	2830	7960
1223913	VAKESH DAS	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1224091	NIKHIL MANDLE	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1224614	Heerachand Khutiyare	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1224639	ADITYA KUMAR CHELAK	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1224663	SUSHANT SONWANI	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1226049	SATYAJEET MARKANDE	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1228689	PADMA MANHAR	Female	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1229140	tirath ram ghritlahre	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490
1229170	VIKAS KUMAR	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2965	2965	8095
1229208	DEVID GANDHARW	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1229525	MUKET KUMAR BANJARE	Male	PGDCA/Computer Application/I	Fresh	9	530	4770	4000	6125	10125	14895

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4519/1/9/74983

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1231132	ASHUTOSH RAI	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1231511	KARAN KUMAR HIRWANI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1231820	SUMESH TANDAN	Male	B. Sc./Bio Technology/I	Fresh	8	300	2400	5000	4330	9330	11730
1232857	Puran Mal Sonwani	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1232872	Jayprakash Lahare	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1233941	SHATRUHAN GENDRE	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2830	2830	5230
1234209	kamlesh jangade	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1237489	KUMARI TRIVENI BANJARE	Female	B. C. A./Computer Application/I	Fresh	8	570	4560	7000	4680	11680	16240
1238144	RAJENDRA CHOUHAN	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1242985	RAMAKANT DAHARIYA	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1243397	GIRISH KUMAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1247742	ARJUN LAL CHATURWEDI	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1249458	MAMTA KURRA	Female	B. Sc./Science/I	Fresh	9	300	2700	0	2770	2770	5470
1252320	KAUSHAL KUMAR	Male	B. Sc./Information Technology/I	Fresh	8	570	4560	5000	4330	9330	13890
1252351	RUPESH KUMAR	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1247971	JANKI JOSHI	Female	M. Sc./Zoology/I	Fresh	8	530	4240	0	4010	4010	8250

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

an, energe and another the form to the form t

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4519/1/9/74983

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Month **Allowance** 1253906 ACHAL MESHRAM Female B. Sc./Science/I Fresh 8 300 2400 0 2770 2770 5170 9 1255493 TEKESHWAR SARANG Male B. Sc./Computer Science/I Fresh 300 2700 5000 4330 9330 12030 1256493 LOKESH KUMAR KOSRE Male B. Sc./Science/I Fresh 8 300 2400 2790 2790 5190 1260272 NEHA JOSHI Female D. C. A./Diploma in Computer Fresh 9 230 2070 4000 6030 10030 12100 application/I 8 1261993 PUSHPALATA TANDON Female B. Sc./Science/I Fresh 570 4560 0 2770 2770 7330 9 B. Sc./Science/I 570 5130 0 2770 2770 7900 1250585 JAYA BINJHEKAR Female Fresh 9 Male B. Sc./Information Fresh 300 2700 5000 4310 9310 12010 1263644 manish tandi Technology/I 8 1266276 BIRBAL NIRALA Male D. C. A./Diploma in Computer Fresh 1840 4000 6050 230 10050 11890 application/I 1267356 ANJALI KOSLE B. Sc./Science/I 8 0 2770 2770 5170 Female Fresh 300 2400 8 Male B. C. A./Computer Fresh 570 4560 7000 4800 16360 1268972 Aditya khilari 11800 Application/I

9

8

9

8

9

300

300

570

300

300

2700

2400

5130

2400

2700

5000

5000

0

0

0

Declaration:

Fresh

Fresh

Fresh

Fresh

Fresh

Place :

1271642 DOLAMANEE KALET

1272399 KHILESH GILHARE

1278908 KAJAL TIRPURE

1273196 LALIT KUMAR KURRE

1274378 PRAVIN KUMAR DAHARIYA

Male

Male

Male

Male

Female

Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

B. Sc./Computer Science/I

B. Sc./Bio Technology/I

B. Sc./Science/I

B. Sc./Science/I

B. Sc./Science/I

4330

4330

2790

2790

2790

9330

9330

2790

2790

2790

12030

11730

7920

5190

5490

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4519/1/9/74983

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1279373	RANVEER SINH	Male	B. C. A./Computer Application/I	Fresh	8	300	2400	7000	4700	11700	14100
1288873	NAGENDRA KUMAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1256669	SHUSHIL GENDRE	Male	M. Sc./Mathematics/I	Fresh	9	530	4770	0	4010	4010	8780
1305768	Niraj Kumar	Male	B. Sc./Bio Technology/I	Fresh	8	300	2400	5000	4330	9330	11730
1314043	RAJIV KUMAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1292594	LOKESH KUMAR BHARTI	Male	B. Sc./Bio Technology/I	Fresh	8	300	2400	5000	4330	9330	11730
1271933	HURSHIKESH BAGHEL	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1272264	PRAMOD KUMAR BANDE	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1265261	MANISH KUMAR BARMAN	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1258660	GAJENDRA KUMAR BANDHE	Male	B. Sc./Bio Technology/I	Fresh	8	570	4560	5000	4330	9330	13890
1251890	HANIF HEMANT BAGHEL	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1241218	YOGENDRA KUMAR TANDAN	Male	B. Sc./Information Technology/I	Fresh	8	570	4560	5000	4330	9330	13890
1240934	MITESH ANESHWARI	Male	B. Sc./Computer Science/I	Fresh	9	300	2700	5000	4330	9330	12030
1238894	KIRAN JOSHI	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
1227037	VAISHALI VASNIK	Female	B. Sc./Information Technology/I	Fresh	8	300	2400	5000	4310	9310	11710
1225798	BHUPESH GIRI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490

Declaration:

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4519/1/9/74983

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1003438	NAMRATA BANJARE	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
643309	chandan kumar	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
611240	NARSING PRADHAN	Male	B. Sc./Information Technology/I	Fresh	8	300	2400	5000	4330	9330	11730
594074	RUPASAN JANGADE	Male	M. Sc./Geology/I	Fresh	8	530	4240	0	4010	4010	8250
						Total :	301700	152000	299050	451050	752750

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

State: Government of Chhattisgarh

Category: ST

Sanction Number: N/6/4519/2/7/74988

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
134143	ANJLI MANDAVI	Female	M. Sc./Physics/I	Fresh	8	820	6560	0	4010	4010	10570
139084	NARAYAN SINGH CHANDRAVANSHI	Male	PGDCA/Computer Application/I	Fresh	9	820	7380	4000	6125	10125	17505
179106	KESHAV KUMAR	Male	M. Sc./Botany/I	Fresh	8	530	4240	0	3980	3980	8220
208398	Khuaman Dhruw	Male	M. Sc./Zoology/I	Fresh	9	530	4770	0	4030	4030	8800
820350	SANJAY KUMAR	Male	B. Sc./Computer Science/I	Fresh	8	570	4560	5000	4330	9330	13890
288876	Kshipra Xaxa	Female	M. Sc./Zoology/I	Fresh	9	530	4770	0	4410	4410	9180
307852	RAJENDRA KUMAR DHRUW	Male	M. Sc./Geology/I	Fresh	9	530	4770	0	4010	4010	8780
928552	RAKESH BHAGAT	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
850574	SIMMI KAWDE	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
524825	DAMYANTI THAKUR	Female	M. Sc./Bio-Technology/I	Fresh	9	530	4770	20000	5470	25470	30240
598675	HEERADHAR JAGAT	Male	PGDCA/Computer Application/I	Fresh	8	820	6560	4000	6125	10125	16685
519612	GAJENDRI MANDAVI	Female	M. Sc./Bio-Technology/I	Fresh	9	820	7380	20000	5470	25470	32850
586325	vinita mandavi	Female	M. Sc./Botany/I	Fresh	8	820	6560	0	4010	4010	10570
823374	GAJENDRA KUMAR	Male	D. C. A./Diploma in Computer application/I	Fresh	9	380	3420	4000	6050	10050	13470
672960	HEMANT KUMAR DHRUW	Male	M. Sc./Zoology/I	Fresh	8	530	4240	0	4010	4010	8250
1225399	PRAMOD RAM BHAGAT	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/6/4519/2/7/74988

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
688995	Mamta Nagesh	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
685635	Sakshi Lakra	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
816192	SAMEER TIGGA	Male	B. Sc./Information Technology/I	Fresh	9	570	5130	5000	4330	9330	14460
1013047	Sheetal Toppo	Male	B. Sc./Computer Science/I	Fresh	8	300	2400	5000	4330	9330	11730
1165785	RAHUL MINJ	Male	M. Sc./Zoology/I	Fresh	8	530	4240	0	4010	4010	8250
933181	Suman Bhagat	Female	B. Sc./Science/I	Fresh	8	570	4560	0	2770	2770	7330
1227458	AJAY KUMAR MANDAVI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490
1226069	SUNITA JAGAT	Female	B. Sc./Microbiology/I	Fresh	8	300	2400	3000	3310	6310	8710
1230767	RAMESH KUMAR NETAM	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1230794	JAGRITI NETAM	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
1231659	VIJAY KUMAR MARKAM	Male	B. Sc./Microbiology/I	Fresh	8	570	4560	3000	3330	6330	10890
1236391	YOGESH KUMAR KUDIYAM	Male	B. Sc./Computer Science/I	Fresh	8	570	4560	5000	4330	9330	13890
1013101	Seema Toppo	Female	B. Sc./Bio Technology/I	Fresh	8	300	2400	5000	4310	9310	11710
1225320	SANJAY KUMAR POTAI	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1227800	Jyoti Rawte	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1236209	CHANDANI MANDAVI	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1228471	JANKI DHRUW	Female	M. Sc./Botany/I	Fresh	8	820	6560	0	4010	4010	10570

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place:

(Signature & Seal of Head of the Institution) Name (Capital Leters) :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number : N/6/4519/2/7/74988

Sanction Date: 20/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1224662	HARSHVARDHAN KHAKHA	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490
1225750	RAJESH KUMAR VERDA	Male	B. Sc./Computer Science/I	Fresh	9	300	2700	5000	3223	8223	10923
1235754	NIDHI NAG	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1234744	SUMAN BECK	Female	B. C. A./Computer Application/I	Fresh	9	570	5130	7000	4780	11780	16910
1235854	LALITA POTAI	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1249356	DIVYA BHUARYA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
1239024	MENKA RATHIYA	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1238337	YOGITA SIDAR	Female	B. Sc./Microbiology/I	Fresh	8	570	4560	3000	3410	6410	10970
1227246	AISHWARYA RAJ LAXMI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	2770	2770	5470
1258872	KIRAN RATHIA RATHIA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
1230248	BHEKHU ram	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1239187	SANJU MARKAM	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1268148	POJO RAM KAWASEE	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1240582	NITESH KUMAR MANJHI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1227172	RUPESH KUMAR PARCHAPI	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2770	2770	7330
1230145	TAMESHWAR KANWAR	Male	B. Sc./Computer Science/I	Fresh	9	570	5130	5000	4330	9330	14460
1230467	VISHANKER NETAM	Male	B. Sc./Computer Science/I	Fresh	9	570	5130	5000	4330	9330	14460

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4519/2/7/74988

Sanction Date : 20/02/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1230825	MANISHA KORRAM	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1186418	Ravindra Kumar Karcham	Male	PGDCA/Computer Application/I	Fresh	8	820	6560	4000	6125	10125	16685
1235692	MEERA POTAI	Female	B. Sc./Science/I	Fresh	8	570	4560	0	2770	2770	7330
1235945	PALLAVI SALAM	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1236293	HIROUNDI KANWAR	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1238613	SHILU BHASKER	Female	B. Sc./Microbiology/I	Fresh	8	570	4560	3000	3410	6410	10970
1239160	MINAKSHEE NARETI	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1239333	TASMANEE POTAI	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1239789	POONAM NAG	Female	B. Sc./Microbiology/I	Fresh	9	570	5130	3000	3310	6310	11440
1240030	PRATIMA SHANDILYA	Female	B. Sc./Microbiology/I	Fresh	9	570	5130	3000	3310	6310	11440
1240209	LAKHANSINGH KOWACHI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1237725	DIWAKAR SAI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1242742	PRAMILA DHRUW	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1245298	DEEPAK BECK	Male	B. Sc./Computer Science/I	Fresh	8	300	2400	5000	4330	9330	11730
1246354	NEHA USENDI	Female	B. Sc./Science/I	Fresh	9	570	5130	0	2770	2770	7900
1248841	MAHENDRA MARKAM	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1248975	Roshan Kumar Hemla	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/6/4519/2/7/74988

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1250133	SAKET KUMAR BHAGAT	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2925	2925	5325
1253121	SMITA LAKRA	Female	M. Sc./Bio-Technology/I	Fresh	8	530	4240	20000	5470	25470	29710
1254461	NARENDRA NAG	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490
1256358	SANJEETA LAKRA	Female	M. Sc./Zoology/I	Fresh	9	820	7380	0	4010	4010	11390
1259185	ANJITA XAXA	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
1259387	Dhaneshwar Dhruw	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2965	2965	8095
1260115	RAMESH TIRKI	Male	B. Sc./Bio Technology/I	Fresh	8	300	2400	5000	4330	9330	11730
1260893	POORNIMA JURRI	Female	M. Sc./Physics/I	Fresh	8	820	6560	0	4010	4010	10570
1261097	HEMANT KUMAR KARGA	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1262031	Vinod Kodopi	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	4000	6125	10125	14365
1262107	MANALI KAUL	Female	B. Sc./Microbiology/I	Fresh	8	300	2400	3000	3150	6150	8550
1262218	SARASWATI MADE	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2770	2770	5170
1262298	ARAVIND DIWAN	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1683	1683	4083
1262616	TATI RAHUL	Male	B. Sc./Bio Technology/I	Fresh	9	300	2700	5000	4330	9330	12030
1265235	JYOTHI AMMA BHUYAN	Female	B. Sc./Science/I	Fresh	9	300	2700	0	2770	2770	5470
1265240	VENKTESH DHRUW	Male	D. C. A./Diploma in Computer application/I	Fresh	8	380	3040	4000	6050	10050	13090

Declaration:

Place :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/6/4519/2/7/74988

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1256470	KETAN NARETI	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1266860	NAND KISHOR SOM	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1267044	MANISH PAINKRA	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1267227	MANTHAN KEMRO	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2830	2830	7960
1268246	NEERA PREETI MINJ	Female	B. Sc./Microbiology/I	Fresh	8	300	2400	3000	3150	6150	8550
1269161	SANJU KORSA	Female	B. Sc./Science/I	Fresh	8	570	4560	0	2770	2770	7330
1272169	KISHAN KUMAR BARIHA	Male	B. Sc./Bio Technology/I	Fresh	9	300	2700	5000	4330	9330	12030
1272884	YASHWANT KUMAR MARAI	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2830	2830	5230
1272026	SUNIL netam	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1242434	Mohan Singh Roy	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1276901	RAHUL MANDAVI	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1277161	Omprakash korram	Male	M. Sc./Physics/I	Fresh	9	820	7380	0	4010	4010	11390
1265550	OMSHANKAR BHAGAT	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1276933	LALENDRA KUMAR MARKAM	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190
1274245	RAJENDRA KUMAR PODIYAMI	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2790	2790	7350
1279230	RAMKISHAN DHRUW	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1274650	gajendra kumar netam	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1294441	CHITAMBER SINGH	Male	B. Sc./Science/I	Fresh	8	300	2400	0	2790	2790	5190

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/6/4519/2/7/74988

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1278322	sarju uike	Male	B. Sc./Science/I	Fresh	9	570	5130	0	2790	2790	7920
1237018	PUSHKAR SHORI	Male	B. Sc./Microbiology/I	Fresh	8	300	2400	3000	3170	6170	8570
1307600	DEEPESH KUMAR JAGAT	Male	B. Sc./Science/I	Fresh	9	300	2700	0	2790	2790	5490
1300892	Jagesh kumar	Male	M. Sc./Zoology/I	Fresh	8	820	6560	0	4010	4010	10570
1275505	RISHABH KUMAR KUNJAM	Male	B. Sc./Science/I	Fresh	8	570	4560	0	2965	2965	7525
1276501	YOGITA MARKAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	2770	2770	5470
1277177	HEMLATA NAG	Female	B. Sc./Science/I	Fresh	8	300	2400	0	2810	2810	5210
1273071	POOJA DHRUW	Female	B. Sc./Science/I	Fresh	9	300	2700	0	2770	2770	5470
	Tot							178000	370961	548961	1006181

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/4519/2/7/75025

Sanction Date : 20/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
114909	tikeshwar kumar belodhiya	Male	M. Sc./Zoology/II	Renewal	8	820	6560	0	3980	3980	10540
155483	NANDESHWARI KOMARE	Female	M. Sc./Botany/II	Renewal	9	820	7380	0	3940	3940	11320
169405	DIPAK KUMAR DEV	Male	B. Sc./Science/II	Renewal	9	570	5130	0	2630	2630	7760
271452	KUNWAR SINGH DIWAN	Male	B. Sc./Computer Science/II	Renewal	8	570	4560	5000	3170	8170	12730
293932	HIMA BHANDARI	Female	B. Sc./Science/III	Renewal	8	570	4560	0	2610	2610	7170
316443	Tanuja Bhaskar	Female	M. Sc./Botany/II	Renewal	9	820	7380	0	4030	4030	11410
337960	MOTILAL KODOPEE	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190
393639	GAJPATI SAI	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2670	2670	7230
407863	Sarita Netam	Female	M. Sc./Geology/II	Renewal	9	820	7380	0	4380	4380	11760
408002	Madan Lal Masiyare	Male	M. Sc./Zoology/II	Renewal	8	530	4240	0	3930	3930	8170
425435	Yogeshwar Kumar Netam	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3170	8170	10570
443489	Pradeep Kumar	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190
486783	Priyanka Nag	Female	M. Sc./Zoology/II	Renewal	8	530	4240	0	4380	4380	8620
515859	ANTONIS XALXO	Male	M. Sc./Zoology/II	Renewal	8	820	6560	0	3980	3980	10540
526198	Vikas Kujur	Male	B. Sc./Computer Science/II	Renewal	8	570	4560	5000	3170	8170	12730
528870	PREMA MINJ	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170
553119	GOODWIN TIGGA	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/4519/2/7/75025

Sanction Date: 20/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
565078	SUKHLAL TEKAM	Male	B. Sc./Bio Technology/II	Renewal	8	570	4560	5000	3170	8170	12730
569986	Nilesh kumar Netam	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
591807	RAJNI URAON	Female	B. Sc./Information Technology/III	Renewal	9	300	2700	5000	3150	8150	10850
607726	Maheshwar Markam	Male	M. Sc./Physics/II	Renewal	8	820	6560	0	3980	3980	10540
660022	Kuldeep Bara	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	4330	9330	11730
662917	Suleman Kujur	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3170	8170	10570
668584	MOHIT KUMAR NONAME	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3270	8270	10670
669351	MANOHAR MANDAVI	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
709415	RAMESH KUMAR GATPALLI	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
715688	Ranjit Ram	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2670	2670	5070
733548	SATYAM KUMAR DHRUW	Male	B. Sc./Computer Science/II	Renewal	8	300	2400	5000	3170	8170	10570
801205	VINOD KUMAR NETAM	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
822641	JAGESHWAR SINGH DHRUW	Male	M. Sc./Zoology/II	Renewal	8	820	6560	0	3980	3980	10540
832616	AJAY KORRAM	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190
827805	himanshu taram	Male	B. Sc./Microbiology/III	Renewal	8	300	2400	3000	3330	6330	8730
828336	HIMANI MANDAVI	Female	B. Sc./Computer Science/III	Renewal	8	570	4560	5000	3150	8150	12710
833653	LAXMIKANT KORRAM	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2630	2630	7190

Declaration:

Place : Date :

Institute Name: Govt. Scienc College Raipur

Government of Chhattisgarh



Sanction Date: 20/02/2017

Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/6/4519/2/7/75025

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
835792	BHUKHAN SINGH THAKUR	Male	B. Sc./Science/III	Renewal	8	570	4560	0	2670	2670	7230
836052	BALRAM netam	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2790	2790	7350
843156	meera darro	Female	B. Sc./Computer Science/III	Renewal	8	570	4560	5000	3150	8150	12710
847107	bhavika komre	Female	B. Sc./Science/III	Renewal	8	570	4560	0	2610	2610	7170
877379	NAMITA NETAM	Female	B. Sc./Bio Technology/III	Renewal	8	300	2400	5000	3150	8150	10550
908660	MAMTA BECK	Female	B. Sc./Bio Technology/III	Renewal	8	570	4560	5000	3150	8150	12710
927878	TULSI RAM WADDE	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2670	2670	5070
1058459	RAMLACHCHHAN KORRAM	Male	B. Sc./Science/III	Renewal	8	300	2400	0	2630	2630	5030
1115334	MOHIT KUMAR BHOI	Male	M. Sc./Chemistry/III	Renewal	8	530	4240	0	4000	4000	8240
1120696	BABITA KAWDE	Female	B. Sc./Microbiology/II	Renewal	8	570	4560	3000	3150	6150	10710
1122697	JAGESHWAR THAKUR	Male	B. Sc./Science/II	Renewal	9	300	2700	0	2630	2630	5330
1168317	PAARTHRAM DHRUW	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030
1151384	sanju gota	Male	B. Sc./Computer Science/II	Renewal	8	570	4560	5000	3170	8170	12730
1150601	UDAY SINGH	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1228223	LAXMI DHRUW	Female	M. Sc./Chemistry/II	Renewal	8	820	6560	0	4010	4010	10570
1124922	HEM LAL MARKAM	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1174828	RITU KUMAR	Male	B. Sc./Bio Technology/II	Renewal	8	570	4560	5000	3170	8170	12730
1164268	ANURAG KANWAR	Male	B. Sc./Science/II	Renewal	8	300	2400	0	2630	2630	5030

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/6/4519/2/7/75025

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year : 2016 - 17 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1123644	SANGEETA KASHYAP	Female	M. Sc./Botany/II	Renewal	9	820	7380	0	3980	3980	11360
1124542	PURANIK LAL BHUARYA	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1124475	MANAK LAL DHRUV	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1124091	saroj kumar	Male	B. Sc./Bio Technology/II	Renewal	9	300	2700	5000	3170	8170	10870
1237490	CHANDRA PRAKASH BHASKAR	Male	B. Sc./Science/III	Renewal	9	570	5130	0	2630	2630	7760
1162521	Gayatri Paikra	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2610	2610	5010
1171702	SACHIN KUMAR	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1171141	DAMINI SINGH	Female	B. Sc./Bio Technology/II	Renewal	9	300	2700	5000	3150	8150	10850
1240774	KUMARI LEENA DARRO	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170
1240796	ROHINI MARKAM	Female	B. Sc./Information Technology/II	Renewal	8	300	2400	5000	3150	8150	10550
1193906	RAMCHAND DHURVE	Male	B. Sc./Bio Technology/III	Renewal	5	300	1500	5000	3170	8170	9670
1137563	pravesh kumar uike	Male	B. Sc./Computer Science/II	Renewal	8	570	4560	5000	3170	8170	12730
1168403	ABHISHEK TETA	Male	B. Sc./Science/II	Renewal	9	300	2700	0	2765	2765	5465
1245474	VEDPRABHA ROY	Female	B. Sc./Science/II	Renewal	8	570	4560	5	2610	2615	7175
1131924	SHALINI ALENIYA	Female	B. Sc./Science/III	Renewal	8	570	4560	0	2610	2610	7170
1155958	Kalyani Dhruw	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2610	2610	5010
1247232	AVINASH SHORI	Male	B. Sc./Computer Science/III	Renewal	8	570	4560	5000	3170	8170	12730

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/4519/2/7/75025

Sanction Date : 20/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1172421	OMPRAKASH KEMRO	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2670	2670	7230
1145941	PALAK MINZ	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2610	2610	5010
1254675	AKANSHA EKKA	Female	B. Sc./Information Technology/III	Renewal	8	300	2400	5000	3150	8150	10550
1188539	deepak kumar toppo	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2670	2670	7230
1147501	jayram potai	Male	B. Sc./Computer Science/II	Renewal	8	570	4560	5000	3170	8170	12730
1152042	Ramdas Mandavi	Male	M. Sc./Zoology/II	Renewal	8	820	6560	0	3980	3980	10540
1215077	DHAPENDRA KUNJAM	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1151749	MALINIKESH AGRAWANI	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170
1147069	BHUMIKA POYA	Female	B. Sc./Science/II	Renewal	9	570	5130	5	2610	2615	7745
1146220	CHITRAMANI SHRIMALI	Female	M. Sc./Zoology/II	Renewal	9	530	4770	0	3980	3980	8750
1151326	harikumar bariha	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1160841	SHESHNARAYAN DIWAN	Male	B. Sc./Science/II	Renewal	9	570	5130	0	2630	2630	7760
1168896	BHAVESH KODOPI	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1131791	VANDITA HIDKO	Female	B. Sc./Computer Science/III	Renewal	8	570	4560	5000	3150	8150	12710
1271032	preeti korram	Female	B. Sc./Science/III	Renewal	8	300	2400	0	2610	2610	5010
1272772	DEVENDRA SALAM	Male	M. Sc./Chemistry/II	Renewal	8	530	4240	0	3980	3980	8220
1207107	DEEPIKA MARAVI	Female	B. Sc./Science/II	Renewal	8	570	4560	0	2610	2610	7170

Declaration:

Place : Date :

Institute Name: Govt. Scienc College Raipur

Government of Chhattisgarh



Sanction Date: 20/02/2017

Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: R/6/4519/2/7/75025

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1254646	CHHAYA SINGH	Female	B. Sc./Science/II	Renewal	8	300	2400	0	2610	2610	5010
1188265	KESHAV KUMAR KUNJAM	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1201211	NAKESHWAR PRASAD DHRUW	Male	B. Sc./Science/III	Renewal	8	300	2400	0	2630	2630	5030
1123126	ankita netam	Female	B. Sc./Bio Technology/III	Renewal	8	300	2400	5000	3150	8150	10550
1139628	RAJESH MANDAVI	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1158282	INDRA KUMAR	Male	B. Sc./Computer Science/III	Renewal	8	300	2400	5000	3170	8170	10570
1188439	RAMBILAS GAWDE	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2670	2670	7230
138322	MADHURI NETAM	Female	M. Sc./Zoology/II	Renewal	8	820	6560	0	4030	4030	10590
1186476	rishikesh salam	Male	B. Sc./Science/II	Renewal	8	570	4560	0	2630	2630	7190
1123769	SUREKHA WATTI	Female	M. Sc./Botany/II	Renewal	9	820	7380	0	3980	3980	11360
1124605	ANAT RAM SIDAR	Male	B. Sc./Microbiology/II	Renewal	8	570	4560	3000	3170	6170	10730
651736	PIYUSH KUMAR NOSURNAME	Male	B. Sc./Microbiology/II	Renewal	8	300	2400	3000	3270	6270	8670
						Total :	411990	142010	299345	441355	853345

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs.....as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
114400	CHETANA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
120360	RAJESH KUMAR	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
125665	Chandrakala Verma	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
128203	sanjeev kumar	Male	M. Sc./Geology/II	Renewal	8	105	840	0	4195	4195	5035
128915	LAKHAPATI PATEL	Male	M. Sc./Physics/II	Renewal	8	100	800	0	4595	4595	5395
133197	POOJA BHOI	Female	M. Sc./Botany/III	Renewal	9	115	1035	0	4030	4030	5065
134585	KHUSHBU SAHU	Female	M. Sc./Zoology/II	Renewal	8	135	1080	0	4030	4030	5110
139767	GHANSHYAM SAHU	Male	M. Sc./Physics/II	Renewal	8	130	1040	0	1870	1870	2910
146988	Tamradhwaj Sahu	Male	B. Sc./Information Technology/III	Renewal	8	115	920	5000	3405	8405	9325
149255	Lakheshwar verma	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
152615	AKANKSHA CHANDRAKAR	Female	B. Sc./Bio Technology/III	Renewal	8	85	680	5000	3250	8250	8930
158347	DIGESHWAR KUMAR SAHU	Male	B. Sc./Computer Science/III	Renewal	8	70	560	5000	3405	8405	8965
158615	MADHUKAR VERMA	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
177984	Ajay Kumar Nirmalkar	Male	M. Sc./Mathematics/II	Renewal	8	105	840	0	4195	4195	5035
200054	Naveen Kumar Dadsena	Male	B. Sc./Science/III	Renewal	8	100	800	0	2805	2805	3605
202672	Badal Sahu	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

9

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
205260	JAY PRAKASH	Male	M. Sc./Physics/II	Renewal	8	105	840	0	4195	4195	5035
212773	GHANSHYAM SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
220844	MEGHA VAISHANAVA	Female	M. Sc./Physics/II	Renewal	8	135	1080	0	4030	4030	5110
228919	SONSAY SAHU	Male	M. Sc./Mathematics/II	Renewal	8	105	840	0	4195	4195	5035
234411	SAKET KUMAR SAHU	Male	B. Sc./Computer Science/III	Renewal	8	70	560	5000	3405	8405	8965
238593	lata Sahu	Female	B. Sc./Computer Science/III	Renewal	9	85	765	5000	3250	8250	9015
238688	KESHAV KUMAR JALCHHATRI	Male	M. Sc./Physics/II	Renewal	8	105	840	0	4195	4195	5035
238724	ajay sahu	Male	B. Sc./Bio Technology/II	Renewal	9	55	495	5000	3405	8405	8900
249766	KISHOR KUMAR NO NAME	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
252332	KAILASH KUMAR NAYAK	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
262935	LOKESHWAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
265191	Pankaj Kumar Dewangan	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
268135	Hemshikha Sahu	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
273854	NEMICHAND CHANDRAKER	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
286180	RAVI KUMAR	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
311245	SURENDRA KUMAR	Male	B. Sc./Computer Science/III	Renewal	8	115	920	5000	3405	8405	9325

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

State: Government of Chhattisgarh

Category: OBC

Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
318853	VIKASH DEWANGAN	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
319604	NEERAJ KUMAR DESHMUKH	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
320165	Lakeswer dadsena	Male	B. Sc./Microbiology/III	Renewal	9	70	630	3000	3405	6405	7035
321085	SADHNA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
337377	BHAWSAGAR SAW	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
341171	PREETI NISHAD	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
352455	GANESH RAM SAHU	Male	B. Sc./Microbiology/III	Renewal	8	70	560	3000	3405	6405	6965
371769	DEEPAK CHOUDHARY	Male	B. Sc./Science/III	Renewal	8	70	560	0	3015	3015	3575
379954	SANJAY KUMAR SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
391187	ARVIND SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2650	2650	3280
391822	ROSHAN SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
396059	DAMINI VERMA	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
408015	PRAFULL KUMAR	Male	B. Sc./Computer Science/III	Renewal	8	100	800	5000	3405	8405	9205
408096	YOGENDRA KUMAR	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
414036	PANKAJ PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
473165	GYANESHWAR JAISWAL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
779321	RAKESH KUMAR JAISWAL	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

ŭ

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
779465	VISHESHVAR VERMA	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
547826	GAJENDRA NISHAD	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
533992	NARAYAN SAHU	Male	M. Sc./Geology/II	Renewal	9	105	945	0	4195	4195	5140
574481	CHAITAN KUMAR NAYAK	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
753097	DIVYA CHAKRADHARI	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
487615	CHETAN LAL SAHU	Male	B. Sc./Computer Science/III	Renewal	8	70	560	5000	3405	8405	8965
592506	ARCHANA PAL	Male	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
831026	VIMAL KUMAR VERMA	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
847102	KARUNA PATEL	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
839695	SARVESH KAUSHIK PATEL	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
612081	DHANI RAM	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
847428	SUDAMA RAM PATEL	Male	M. Sc./Mathematics/II	Renewal	8	105	840	0	4195	4195	5035
721626	JAVED SAHU	Male	B. Sc./Information Technology/II	Renewal	8	100	800	5000	3405	8405	9205
833246	POKHEN KUMAR	Male	B. Sc./Science/III	Renewal	10	115	1150	0	2805	2805	3955
638465	RITU SAHU	Female	M. Sc./Chemistry/II	Renewal	9	110	990	0	3940	3940	4930
648126	Vidya Patel	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
600386	YUGAL KISHOR SAHU	Male	M. Sc./Chemistry/II	Renewal	8	125	1000	0	4195	4195	5195
836844	HEMCHAND YADAV	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
847446	KANCHAN SAHU	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
741651	HEMKUMARI PATEL	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
725874	TARKESHWAR VERMA	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
568511	NANDA KISHOR SAHU	Male	M. Sc./Mathematics/II	Renewal	8	105	840	0	4185	4185	5025
572105	JAGESHWAR SAHU	Male	M. Sc./Chemistry/III	Renewal	8	105	840	0	4195	4195	5035
822203	DIGENDRA KUMAR	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
748748	BHUPESH KUMAR YADAV	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
566477	VINEETA DEWANGAN	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
825859	HIMANSHU VERMA	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
503774	CHAMAN SAHU	Male	B. Sc./Bio Technology/III	Renewal	8	70	560	5000	3405	8405	8965
824273	GIRVAR SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
849085	MAHESHWAR PATWA	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
829808	Harish Dewangan	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
826250	LOMASH SAHU	Male	B. Sc./Information Technology/III	Renewal	9	70	630	5000	3405	8405	9035

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Sanction Date: 20/02/2017

Scholarship Scheme: Post Matric OBC Scholarship

Institute Name: Govt. Scienc College Raipur

Category: OBC Sanction Number: R/6/4519/3/10/74741

Category . Obc Sanction number . Ryo/4319/5/10/14141

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
618442	Harishankar Verma	Male	B. Sc./Science/III	Renewal	9	55	495	0	2805	2805	3300
815767	MANJEET SETH	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
711041	NEHA SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
556044	LAKHESHWARI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
511150	MANISH DEWANGAN	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
846980	SHIKHA SAHU	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
642027	BALRAM SAHU	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
581893	JITENDRA VERMA	Male	B. Sc./Science/II	Renewal	8	55	440	0	2661	2661	3101
552732	KULDEEP YADAV	Male	B. Sc./Computer Science/II	Renewal	9	55	495	5000	3405	8405	8900
605024	NARESH NAYAK	Male	M. Sc./Geology/II	Renewal	8	105	840	0	4195	4195	5035
827851	MONIKA DEWANGAN	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
832423	GIRISH KUMAR	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
637107	anita bhoi	Female	M. Sc./Mathematics/II	Renewal	8	135	1080	0	4030	4030	5110
623989	Babita Patel	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
847362	KIRTI SAHU	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
645608	Narendra Kumar Sonkar	Male	M. Sc./Chemistry/II	Renewal	8	105	840	0	4195	4195	5035

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
828779	Vikas Dewangan	Male	B. Sc./Microbiology/III	Renewal	8	70	560	3000	3405	6405	6965
505126	PURUSHOTTAM SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
749747	BHOJRAM SONKAR	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
841211	JAIKUMAR PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
711278	OM PRAKASH XX	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
827979	KHILESH KUMAR	Male	M. Sc./Zoology/II	Renewal	8	105	840	0	4195	4195	5035
823537	LOMASH KUMAR	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
844014	DURYODHAN nayak	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
710636	AMAN YADAV	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
843854	RAHUL KUMAR SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
828364	LOKESH YADAV	Male	B. Sc./Science/III	Renewal	8	115	920	0	2805	2805	3725
669314	OMPRAKASH PATEL	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
598187	LALA RAM	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
751420	RAKHI SAHU	Female	B. Sc./Information Technology/II	Renewal	7	70	490	5000	3405	8405	8895
725961	TARUN KUMAR DEWANGAN	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
841554	PARMESHWAR DEWANGAN	Male	B. C. A./Computer Application/III	Renewal	8	70	560	10000	3625	13625	14185

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Month **Allowance** 836075 PALLAVI DEWANGAN Female B. Sc./Science/III Renewal 8 85 680 0 2650 2650 3330 8 847458 DIPTI VERMA Female B. Sc./Bio Technology/III Renewal 85 680 5000 3250 8250 8930 754192 DURGA SAHU Female B. Sc./Science/II Renewal 8 70 560 2650 2650 3210 607636 YUVRAJ KUMAR CHANDRAKAR Male B. Sc./Microbiology/II Renewal 8 55 440 3000 3405 6405 6845 623882 ROSHAN LAL KEWAT Male B. Sc./Science/II Renewal 8 55 440 2805 2805 3245 8 70 560 5000 3405 8965 600968 Pratik Kumar Male B. Sc./Information Renewal 8405 Technology/III 8 70 560 0 3365 848825 ISHWAR LAL Male B. Sc./Science/III Renewal 2805 2805 8 85 846802 SWATI KAUSIK Female B. Sc./Science/III 680 0 2650 2650 3330 Renewal Male 8 0 5035 544021 PANKAJ KUMAR M. Sc./Physics/III Renewal 105 840 4195 4195 8 546334 DHANESH KUMAR VERMA Male B. Sc./Science/II Renewal 55 440 0 2805 2805 3245 8 640698 SAROJ PATEL Female B. Sc./Science/II Renewal 70 560 0 2650 2650 3210 742692 MANOJ NAYAK Male B. Sc./Science/II Renewal 8 55 440 0 2805 2805 3245 Male B. Sc./Science/III 8 70 560 0 2805 2805 3365 824118 RAMESHWAR PATEL Renewal 8 70 560 2805 3365 837397 SONU VERMA Male B. Sc./Science/III Renewal 2805 832393 JITENDRA CHANDRAVANSHI Male B. Sc./Computer Science/III Renewal 8 70 560 5000 3405 8405 8965 9 55 716813 TIKESHWAR PRASAD Male B. Sc./Science/II 495 2805 2805 3300 Renewal 8 70 0 598164 YASH KUMAR SINHA Male B. Sc./Science/III Renewal 560 2805 2805 3365

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Number: R/6/4519/3/10/74741

Sanction Date: 20/02/2017
Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
800534	KHILENDRA SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
644599	NAVEEN KUMAR YADAV	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
840400	YAMINI CHANDRAKAR	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
613386	SANJAY KUMAR PATKAR	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
506465	KAMESH KUMAR NAYAK	Male	B. Sc./Information Technology/II	Renewal	6	55	330	5000	3405	8405	8735
794458	Gulshan Kumar	Male	B. Sc./Bio Technology/II	Renewal	9	55	495	5000	3405	8405	8900
620024	MAHENDRA CHOUDHARY	Male	B. Sc./Science/III	Renewal	8	115	920	0	2805	2805	3725
437505	Tarni Kumari Verma	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
848690	SHUBHAM DEWANGAN	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
733707	SHRIYA AWADHIYA	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
711051	SAVITA SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
987772	CHITRAREKHA TANDIYA	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
1140386	BHAVNA VERMA	Female	B. Sc./Science/II	Renewal	8	70	560	0	1543	1543	2103
1148208	YAMINI SAHU	Female	B. Sc./Bio Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1148460	RASHMI SAHU	Female	B. Sc./Microbiology/II	Renewal	8	70	560	3000	3405	6405	6965
851702	UTTAM DAS MANIKPURI	Male	B. Sc./Microbiology/III	Renewal	8	70	560	3000	3405	6405	6965
1166000	MAHESH KUMAR	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate **Allowance** Month 970461 SACHIN SAHU Male B. Sc./Science/III Renewal 8 115 920 0 2805 2805 3725 8 1176842 BABLU SAHU Male B. Sc./Science/III Renewal 70 560 0 2805 2805 3365 1183406 KULDEEP SAHU Male B. Sc./Science/III Renewal 8 115 920 2805 2805 3725 1183869 NARENDRA KUMAR NAYAK Male B. Sc./Science/II Renewal 8 55 440 0 2805 2805 3245 914421 HEMLATA SAHU B. Sc./Science/III Renewal 5 85 425 0 2650 2650 3075 Female 8 70 560 0 2805 2805 3365 860135 CHINTAMANI RANA Male B. Sc./Science/III Renewal 881150 Chameli Patel Female B. Sc./Science/III 8 85 680 0 2805 2805 3485 Renewal 978034 KHUSHBOO GANGOIR 8 85 680 5000 3250 8250 8930 Female B. Sc./Bio Technology/III Renewal 1121926 ARCHANA GANGOIR Female M. Sc./Geology/II Renewal 8 115 920 0 4430 4430 5350 1061512 Khemraj Nayak Male B. Sc./Computer Science/II Renewal 8 55 440 5000 3405 8405 8845 917147 GUMESHWARI SAHU 9 70 0 2805 Female B. Sc./Science/III Renewal 630 2805 3435 9 1137172 DHANENDRA LODHI Male 70 630 5000 3405 8405 9035 B. Sc./Bio Technology/III Renewal 1142850 KOMAL NISHAD Male B. Sc./Science/II Renewal 9 55 495 2805 2805 3300 1150513 DEEPAK KUMAR KAUSHIK Male B. Sc./Science/II 9 55 495 0 2805 2805 3300 Renewal 9 1176881 lokesh kumar sahu Male B. Sc./Information Renewal 70 630 5000 3405 8405 9035 Technology/III 7 1160842 BHARAT LAL PATEL Male B. Sc./Science/II 55 385 0 2805 2805 3190 Renewal 8 55 0 1175010 Ghanshyam sahu Male B. Sc./Science/II Renewal 440 2805 2805 3245

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

_

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1133676	MUKESH KUMAR PATEL	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1173742	KAMLESH KUMAR SAHU	Male	B. Sc./Information Technology/II	Renewal	8	115	920	5000	3405	8405	9325
1160908	TARUNA SAHU	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
1147441	BHISHAMLAL VERMA	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1177122	TWINKAL SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1133818	PITAMBAR SAHU	Male	B. C. A./Computer Application/II	Renewal	8	55	440	10000	3625	13625	14065
898055	UMAKANT PRADHAN	Male	B. Sc./Science/III	Renewal	9	115	1035	0	2805	2805	3840
865692	RAJKUMAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1124453	AJAY KUMAR	Male	B. Sc./Science/II	Renewal	8	100	800	0	2805	2805	3605
1170779	VED PRAKASH SAHU	Male	B. Sc./Science/II	Renewal	8	100	800	0	2805	2805	3605
1142003	RUSTAM SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1143017	ANITA PATEL	Female	M. Sc./Zoology/II	Renewal	9	115	1035	0	4030	4030	5065
1140474	HEMLATA SEN	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
1161826	JEEVRAKHAN PATEL	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
852708	HIMANI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1181530	SONALI VERMA	Female	B. Sc./Computer Science/II	Renewal	9	70	630	5000	3250	8250	8880

Declaration:

Place :

Date:

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Academic Year: 2016 - 17

Sanction Number: R/6/4519/3/10/74741 Sanction Date: 20/02/2017

Institute Name: Govt. Scienc College Raipur

Applications Type: Renewal

								, ,ppca			
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1127443	RISHIKUMAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1177302	CHUNENDRA SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1173513	KARUNA VERMA	Female	M. Sc./Zoology/III	Renewal	9	115	1035	0	4030	4030	5065
864571	MANOJ SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
1161816	SHESHNARAYAN SAHU	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
868943	VOMESHWARI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1164451	RAJAT KUMAR SAHU	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
1166053	DHANENDRA YADAV	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1156776	PREETI SEN	Female	B. Sc./Science/II	Renewal	9	70	630	0	2805	2805	3435
1157614	AARTI VERMA	Female	B. Sc./Microbiology/II	Renewal	9	70	630	3000	3410	6410	7040
1176950	Ku. Pushpa Jaiswal	Female	B. Sc./Science/II	Renewal	8	85	680	0	2650	2650	3330
849564	MAHENDRA KUMAR	Male	B. Sc./Science/III	Renewal	8	115	920	0	2805	2805	3725
1174864	Vandana Sahu	Female	B. Sc./Science/II	Renewal	8	70	560	0	2805	2805	3365
920071	KSHAMANIDHI SAHU	Male	B. Sc./Bio Technology/III	Renewal	9	115	1035	5000	3405	8405	9440
1137111	SANGEETA SAHU	Female	M. Sc./Zoology/II	Renewal	8	115	920	0	4030	4030	4950
1172881	OM PRAKASH GIR	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1174752	HEMPRAKASH SAHU	Male	B. Sc./Science/II	Renewal	8	100	800	0	2805	2805	3605

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1153881	LOKESH SEN	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
867778	Akash verma	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1170868	LOKESH SAO	Male	B. Sc./Science/II	Renewal	8	100	800	0	2805	2805	3605
1140288	KESHAV SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1159532	GEETESH KUMAR NAYAK	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
1172433	DEVIKA SAHU	Female	B. Sc./Bio Technology/II	Renewal	9	70	630	5000	3250	8250	8880
1159821	MINKETAN NISHAD	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
900115	SARITA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1137271	LOKESHWARI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
858175	NEERAJ SAHU	Male	B. Sc./Bio Technology/III	Renewal	8	70	560	5000	3405	8405	8965
1121799	TEJRAM SAHU	Male	M. Sc./Mathematics/II	Renewal	8	125	1000	0	4195	4195	5195
1128016	ROSHANI VERMA	Female	M. Sc./Physics/II	Renewal	8	135	1080	0	4030	4030	5110
1140424	MAMTA SAHU	Female	B. Sc./Information Technology/II	Renewal	7	70	490	5000	3250	8250	8740
1161130	JAYAPRAKASH CHOUDHARY	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1154350	YUGAL KISHOR SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1145786	TORAN YADAV	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

otato . Government of ormattiogam

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1122575	ANIL DEWANGAN	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
876644	MONIKA YADAV	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1138549	SEEMA SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1128060	KARTIK PAL	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1127987	LOKESHWAR NISHAD	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
874114	MONIKA BAGHEL	Female	B. Sc./Computer Science/III	Renewal	8	85	680	5000	3250	8250	8930
1168465	PRIYA SAHU	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
1136728	HITESH KUMAR	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
869625	PURNENDRA KUMAR NO NAME	Male	B. Sc./Science/III	Renewal	8	70	560	0	1698	1698	2258
1147242	KHEM LATA NAYAK	Female	B. Sc./Science/II	Renewal	9	70	630	0	2805	2805	3435
1174662	PRAVEEN KUMAR SAHU	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1149201	PREETI SAHU	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
1171019	ANAMIKA SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1148026	UNNATI SAHU	Female	B. Sc./Bio Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1167115	Manoj Kumar	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1133679	MADHULIKA GURUPANCHAYAN	Female	M. Sc./Zoology/II	Renewal	8	85	680	0	4030	4030	4710
1161015	MONA CHANDRAKAR	Female	B. Sc./Bio Technology/II	Renewal	8	70	560	5000	3250	8250	8810

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
849896	SANTOSH KUMAR VERMA	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
869629	LEENA SEN	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1109100	JAYPRAKASH PATEL	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1123369	VIKASH KUMAR SINHA	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
849836	YOGESH PATEL	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
1162617	vaishali verma	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
849497	NAVAL KISHOR SAHU	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
1164258	MOTEE LAL DADSENA	Male	B. Sc./Science/III	Renewal	8	115	920	0	2805	2805	3725
851680	VIJAY LAXMI SAHU	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
1181569	MANSI VERMA	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
869922	DWARKA PRASAD	Male	B. Sc./Computer Science/III	Renewal	8	70	560	5000	4084	9084	9644
1182476	KISHAN KUMAR YADAV	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1177998	SUNITA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
1132610	SANJANA BHARGAVA	Female	B. Sc./Microbiology/II	Renewal	9	70	630	3000	3250	6250	6880
1181478	REETU VERMA	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
849945	LAKESHWARI SAHU	Female	B. Sc./Bio Technology/III	Renewal	9	85	765	5000	3250	8250	9015
962725	renuka verma	Female	B. Sc./Bio Technology/III	Renewal	8	85	680	5000	3250	8250	8930
883740	DEVKUMAR VERMA	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1157769	PANKAJ SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1029188	LOKESH KUMAR SINHA	Male	M. Sc./Botany/II	Renewal	9	105	945	0	4195	4195	5140
1181167	SATISH VERMA	Male	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3405	8405	8965
955437	VINAY VERMA	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1123241	CHANDRA KUMAR CHANDRAVANSHI	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
898379	POOJA PRADHAN	Female	B. Sc./Bio Technology/III	Renewal	8	85	680	5000	3250	8250	8930
1124001	PRADEEP KUMAR SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
1124264	LOKESH KUMAR KHUNTE	Male	B. Sc./Science/II	Renewal	8	55	440	0	2661	2661	3101
849431	RASHMI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
913756	Hirendra kumar Sahu	Male	B. C. A./Computer Application/III	Renewal	8	70	560	10000	3625	13625	14185
1175059	Niraj Ganesh Dewangan	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1175021	MITHLESH KUMAR VERMA	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365

Declaration:

Place : Date :

849131 TEEJENDRA KUMAR SAHU

Male

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

Applications Type: Renewal

Application ID Maintenence Tuition Fee Other Fee **Total Fee Total Amount Student Name** Gender Course **Type** No. of Rate Month **Allowance** 1024899 BHUVANESHWARI VERMA Female B. Sc./Science/III Renewal 8 85 680 0 2650 2650 3330 8 55 1169077 AJIT KUMAR SINHA Male B. Sc./Science/II Renewal 440 0 2805 2805 3245 1178882 KULDEEP KUMAR Male B. Sc./Science/II Renewal 8 55 440 2805 2805 3245 910099 MANISH SAHU Male B. Sc./Science/III Renewal 8 70 560 0 2805 2805 3365 880915 LOKESH KUMAR PATEL Male B. Sc./Science/III Renewal 8 70 560 0 2805 2805 3365 8 55 0 2805 2805 1149117 SURENDRA KUMAR Male B. Sc./Science/II Renewal 440 3245 1033326 OMASHISH SAHU Male B. Sc./Science/III Renewal 8 70 560 0 2805 2805 3365 1153372 POOJA DEWANGAN B. Sc./Information 8 70 560 5000 3250 8250 8810 Female Renewal Technology/II 8 1176631 SHRAVAN KUMAR SAHU Male B. Sc./Science/II 55 440 2805 2805 3245 Renewal 8 55 1171311 NARENDRA DEWANGAN Male B. Sc./Science/II Renewal 440 0 2805 2805 3245 8 1123027 Deepak s sahu Male B. Sc./Computer Science/II Renewal 55 440 5000 3405 8405 8845 9 947366 SAURABH KUMAR Male B. Sc./Science/III Renewal 70 630 0 2805 2805 3435 B. Sc./Science/III 9 85 2650 2650 3415 1160830 durgeshwari sahu Female Renewal 765 0 Female 9 85 2650 2650 3415 849748 DURGA JANGHEL B. Sc./Science/III Renewal 765 852734 TULSI RAM SAHU Male B. Sc./Bio Technology/II Renewal 9 55 495 5000 3405 8405 8900 8 85 883054 VARSHA JANGHEL Female B. Sc./Science/III 680 2650 2650 3330 Renewal

Declaration:

Renewal

8

70

Place : Date :

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

B. Sc./Science/III

2805

2805

3365

0

560

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year : 2016 - 17 Applications Type : Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1183857	VEENA SAHU	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
1023017	riya chandrakar	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
855503	YOGESH KUMAR	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	4565	9565	10125
876115	SHAMMI SINHA	Female	M. Sc./Mathematics/II	Renewal	8	105	840	0	4030	4030	4870
851417	VIMAL PRAKASH SAHU	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
1181717	RUDRA DEV VERMA	Male	B. C. A./Computer Application/II	Renewal	8	55	440	10000	4935	14935	15375
1174995	DURGESH KUMAR	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1183801	GUNVATI SAHU	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
861943	VISHWANATH BHOI	Male	B. Sc./Bio Technology/III	Renewal	8	70	560	5000	3405	8405	8965
920821	MAMTA SAHU	Female	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1150421	KUMESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1069321	surendra kumar nishad	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1040628	DIVYA VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
1170459	POOJA PATEL	Female	B. Sc./Microbiology/II	Renewal	8	70	560	3000	2650	5650	6210
1121662	MAHENDRA KUMAR PATEL	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date: 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
877855	SWATI SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
1027601	SHRUTI VERMA	Female	B. Sc./Science/II	Renewal	8	70	560	0	2670	2670	3230
948129	DHANESHWARI SAHU	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
852840	SONALI VERMA	Female	B. Sc./Computer Science/III	Renewal	8	85	680	5000	3250	8250	8930
1129853	MANOJ KUMAR DEWANGAN	Male	B. Sc./Microbiology/II	Renewal	8	55	440	3000	3405	6405	6845
1119744	RUPLAL YADAW	Male	B. Sc./Microbiology/II	Renewal	8	55	440	3000	3405	6405	6845
864532	KAVITA SINHA	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1070520	LALIT KUMAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1182238	CHHABILAL CHOUDHARY	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
892329	OMPRAKASH PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
861678	PREETI SAHU	Female	B. Sc./Bio Technology/III	Renewal	8	85	680	5000	3250	8250	8930
882971	MANISHA VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
899134	KAMINI SAHU	Female	B. Sc./Microbiology/III	Renewal	8	85	680	3000	3250	6250	6930
866458	SHUBHAM YADU	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1169307	KAVERI SAHU	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
1127434	KAMAL PATEL	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
1165360	HIMANSHU CHANDRAKAR	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur

Sanction Date: 20/02/2017

Academic Year: 2016 - 17

Application ID Student Name Gender Course Type No. of No. of

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
881632	HIRA LAL SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
865582	Damini DHIWAR	Female	B. Sc./Microbiology/III	Renewal	8	85	680	3000	3250	6250	6930
900086	HEMLATA DHIWAR	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1147351	NEHA NAYAK	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1166742	KAMLESH SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1006133	VISHWANATH SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
955966	MADHURI VERMA	Female	B. Sc./Bio Technology/III	Renewal	8	85	680	5000	3250	8250	8930
904320	MAHESH PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
849484	GOPAL SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
986386	OM PRAKASH NISHAD	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1180668	arun Prakash Sharma	Male	B. Sc./Computer Science/III	Renewal	8	70	560	5000	3405	8405	8965
982346	NITESH BHARDWARJ	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1167114	SHOBHA DEWANGAN	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1183797	TIKESHWAR SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1021921	DANESHWAR KUMAR	Male	M. Sc./Botany/II	Renewal	9	105	945	0	4195	4195	5140
1071611	MOHIT KUMAR	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1142416	PRIYA SAHU	Female	B. Sc./Bio Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1183985	RENUKA SAHU	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/4519/3/10/74741 Sanction Date: 20/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1053059	PARAS SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
944258	VIKAS KUMAR SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
1187722	LEELADHAR VERMA	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1224095	NARENDRA KUMAR SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
1225055	GAJENDRA KUMAR	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1226496	MAHAVIR PHEKAR	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1186095	Anuradha patel	Female	B. Sc./Science/II	Renewal	8	70	560	0	2805	2805	3365
1188292	MANOJ KUMAR PATEL	Male	B. Sc./Information Technology/II	Renewal	8	115	920	5000	3405	8405	9325
1186472	RAKESH KUMAR DEWANGAN	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
1186683	MANISHA DEWANGAN	Female	B. Sc./Computer Science/II	Renewal	9	70	630	5000	2650	7650	8280
1231099	SATYAVAN PATEL	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1234302	RAJAN SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1236534	NISHA VERMA	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
1239477	JAINENDR PATEL	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1188222	MADHU VERMA	Female	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1242659	UTTAM KUMAR TAMBOLI	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365

Declaration:

Place :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1185970	sandeep dewangan	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1223637	MANISH KUMAR DEWANGAN	Male	B. Sc./Science/II	Renewal	8	100	800	0	2805	2805	3605
1191686	TORAN KUMAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1237324	ROMIN SAHU	Female	M. Sc./Zoology/II	Renewal	9	115	1035	0	4030	4030	5065
1185864	anil dewangan	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
1198750	yaman nayak	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1191273	RAHUL KUMAR	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1187993	PITAMBER CHOUDHARY	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1185496	TARUN TUNGA TUNGA	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1186055	KESHAV HITENDRA	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1254110	TOPESH SAHU	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845
1256023	ARTI DEWANGAN	Female	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1196186	OMPRAKASH SAHU	Male	B. Sc./Science/II	Renewal	7	55	385	0	2805	2805	3190
1253496	Hem Kumar Sahu	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1190334	VIJETA NAYAK	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1189614	TIKESHWAR PATEL	Male	B. Sc./Science/II	Renewal	7	55	385	0	2805	2805	3190

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1261013	RANVEER PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1186131	DHARAM LAL SAHU	Male	B. Sc./Information Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1262669	NIDHI VERMA	Female	B. Sc./Computer Science/II	Renewal	8	70	560	5000	3250	8250	8810
1208076	SUMAN KUMAR SAHU	Male	B. Sc./Information Technology/III	Renewal	8	70	560	5000	3405	8405	8965
1191698	RASHI PAL	Female	B. Sc./Bio Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1265190	CHANCHAL DEWANGAN	Female	B. Sc./Bio Technology/II	Renewal	9	70	630	5000	3250	8250	8880
1191199	NOMESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1188719	HEM KUMAR	Male	B. Sc./Science/II	Renewal	8	55	440	0	2965	2965	3405
1256333	ANJU VERMA	Female	B. Sc./Science/III	Renewal	9	85	765	0	2650	2650	3415
1191908	RITU SAHU	Female	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1215103	DURGESH KUMAR SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1268832	LOKESH SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1195792	MURLI RAM SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1269821	KHUSHBOO VISHWAKARMA	Female	B. Sc./Bio Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1213185	RAKESH KUMAR SAHU	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
1197827	INDRA KUMAR SAHU	Male	B. Sc./Computer Science/II	Renewal	8	55	440	5000	3405	8405	8845

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Number: R/6/4519/3/10/74741 Sanction Date: 20/02/2017

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1271867	GAYATRI SAHU	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
1186750	DEVASHISH SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1191773	DEVRANJAN PRADHAN	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1189207	RAM KUMAR CHANDRAVANSHI	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1192198	BHUPENDRA KUMAR SAHU	Male	B. Sc./Information Technology/II	Renewal	9	55	495	5000	3405	8405	8900
1186661	ROSHAN SAO	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1269709	PRAMOD KUMAR SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1189659	GOMATI SEN	Male	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1184575	GEETA PATEL	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1273049	POOJA VAISHNOW	Female	B. Sc./Information Technology/III	Renewal	8	85	680	5000	3250	8250	8930
1274213	PANKAJ SINHA	Male	B. Sc./Science/III	Renewal	9	70	630	0	2805	2805	3435
1271171	NEHA RATHORE	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1184735	MANISH KUMAR PATEL	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1204175	SACHIN KUMAR YADAV	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1187286	ashish yadav	Male	B. Sc./Microbiology/II	Renewal	9	55	495	3000	3405	6405	6900
1264026	SANDEEP DEWANGAN	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt. Scienc College Raipur

Academic Year: 2016 - 17

State: Government of Chhattisgarh

_

Sanction Date : 20/02/2017

Sanction Number: R/6/4519/3/10/74741

Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1272274	SHRIRAM SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1192017	MANISH UMARE	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1277916	TAMRA DHVAJ SAHU	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1189658	AWADHESH KUMAR	Male	B. Sc./Computer Science/III	Renewal	8	70	560	5000	4565	9565	10125
1280319	AJAY KUMAR VERMA	Male	B. Sc./Bio Technology/II	Renewal	8	55	440	5000	3405	8405	8845
1190897	KHUSHBU SAHU	Female	B. Sc./Science/II	Renewal	8	55	440	0	2650	2650	3090
1283655	NILKANTH SAHU	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1286731	GOURAV KUMAR SAHU	Male	B. Sc./Science/II	Renewal	9	55	495	0	2805	2805	3300
1197365	Priya yadu	Female	B. Sc./Science/II	Renewal	8	70	560	0	2650	2650	3210
1289144	MEGHA SAHU	Female	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3250	8250	8810
1290885	POOJA SINHA	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
1293522	MENKA VERMA	Female	M. Sc./Botany/II	Renewal	9	105	945	0	4030	4030	4975
1298372	BHARTI SAHU	Female	B. Sc./Bio Technology/III	Renewal	8	85	680	5000	3250	8250	8930
1284416	INDU VERMA	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
320511	roshani nayak	Female	B. Sc./Science/III	Renewal	8	85	680	0	2650	2650	3330
1192176	DIPALI SHRIVAS	Female	B. Sc./Information Technology/II	Renewal	8	70	560	5000	3250	8250	8810

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4519/3/10/74741

Institute Name: Govt. Scienc College Raipur Sanction Date: 20/02/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1309502	NILESH KUMAR	Male	B. Sc./Science/III	Renewal	8	70	560	0	2805	2805	3365
1192165	PRAMOD CHANDRAVANSHI	Male	B. Sc./Science/II	Renewal	8	55	440	0	2805	2805	3245
1201463	RASHMI DEWANGAN	Female	B. Sc./Science/II	Renewal	9	70	630	0	2650	2650	3280
						Total :	248505	607000	1249377	1856377	2104882

Declaration:

Place : Date :